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Note :– This paper is of Thirty five (35) marks divided into

two (02) Sections ‘A’ and ‘B’. Attempt the questions

contained in these Sections according to the detailed

instructions given there in. Candidates should limit

their answers to the questions on the given answer

sheet. No additional (B) answer sheet will be

issued.

;g iz'u&i= iSarhl (35) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA



K–33 ( 2 )

Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×9½=19

Note :– Section ‘A’ contains Five (05) Long-answer type

questions of Nine and Half (9½) marks each.

Learners are required to answer any two (02)

questions only.

[k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, lk<+s ukS (9½) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. State and prove Norton’s theorem.

ukWVZu ds izes; dks le>kb, vkSj fl¼ dhft,A

2. Draw the circuit diagram of Colpits oscillator and explain

its working in detail.

dksfYiV~l nksfy= dk ifjiFk vkjs[k cukb, vkSj blds dk;ks± dks

foLrkj ls le>kb,A

3. Explain the working of a bridge rectifier. What are its

advantages over Full wave rectifier ?

iqy (fczt) fn"Vdkjh (jsfDVQk;j) ds dk;Z dks Li"V dhft,A

bldh iw.kZ rjax fn"Vdkjh ds Åij D;k fo'ks"krk,¡ gSa \
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4. What do you understand by the term feedback in an

amplifier ? Discuss the advantages and disadvantages

of negative feedback.

izo/kZd (,eIyhQk;j) esa QhMcSd 'kCn ls vki D;k le>rs

gSa \ udkjkRed QhMcSd ds Qk;ns vkSj uqdlku ij ppkZ

dhft,A

5. Write short notes on the following :

(a) Full adders

(b) Logic gates

fuEufyf[kr ij laf{kIr fVIi.kh fyf[k, %

(v) iw.kZ ;kstd

(c) ykWftd xsV

Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×4=16

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Four (04) marks each. Learners are

required to answer any four (04) questions only.

[k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, pkj (04) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa

dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA
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1. Explain One complement method of binary Substraction

with an example.

ckbujh la[;k ?kVkus dh ,d iwjd fof/k dks mnkgj.k lfgr

le>kb,A

2. Prove that NAND gate is a universal gate.

fl¼ dhft, fd NAND xsV ,d lkoZf=d xsV gSA

3. Explain Varactor diode.

oSjsDVj Mk;ksM dks le>kb,A

4. State Superposition theorem.

v/;kjksi.k izes; dks ifjHkkf"kr dhft,A

5. Explain Zener and Avalanche breakdowns.

tsuj vkSj ,soykap czsdMkmu dh O;k[;k dhft,A

6. Explain the working of an L-Section filter.

,y&lsD'ku fQYVj ds dk;Z iz.kkyh dh O;k[;k dhft,A

7. What are Semiconductors ? Give their properties.

v/kZpkyd D;k gSa \ muds xq.k crkb,A

8. State and prove De-Morgan’s theorem in Boolean

algebra.

cwfy;u chtxf.kr esa Mh&ekWxZu ds izes; dks le>kb, vkSj fl¼

dhft,A
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